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BACHELOR OF SCIENCE 

(GENERAL) 

(BSCG) 

Term-End Examination 

December, 2024 

BCHET-149 : MOLECULES OF LIFE 

Time : 2 Hours     Maximum Marks : 50 

Note : Answer any five questions from the 

following. All questions carry equal marks. 

1. (a) Fill in the blanks : 5 

(i) Fatty acid biosynthesis takes place  

in ..................... . 

(ii) The cofactor of enzyme acetyl-CoA 

carboxylase is .................... . 
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(iii) Oxidative deamination is catalysed by 

an enzyme called ................. . 

(iv) Hydrogen peroxide is decomposed by 

the enzyme ................... . 

(v) D-glucose on reaction with nitric acid 

gives .................... . 

(b) Why is sucrose a non-reducing sugar  

while maltose is a reducing sugar ? 

Explain. 5 

2. (a) Describe the classification of amino  

acids on the basis of their chemical 

composition. 5 

(b) Define isoelectric point. Explain the 

titration curve of Glycine. 5 
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3. Explain any two of the following : 5+5 

(a) Why is cellulose insoluble in water and 

why is it not used as an energy source by 

humans ? 

(b) Why is the peptide bond planar ? 

(c) Why are enzymes effective drug targets ? 

4. Define the following terms with suitable 

examples :  21
2
 each 

(a) Enantiomer 

(b) Diastereomer 

(c) Anomer 

(d) Mutarotation 

5. (a) Write True or False for the following 

statements : 5 

(i) Albumin is soluble in water and in salt 

solution. 
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(ii) Collagen is an example of a fibrous 

protein. 

(iii) Formation of DNA is catalysed by 

DNA polymerase. 

(iv) The characteristic of the genetic 

material is not to duplicate. 

(v) Presence of higher than normal 

quantities of ketone bodies in blood is 

called ketonurea. 

(b) What are drugs ? What is the role of SAR 

studies in drug development ? 5 

6. Describe any two of the following with a 

suitable diagram : 5+5 

(a) TCA cycle 

(b) Urea cycle 

(c) Merrifield solid phase synthesis of peptides 
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7. Write short notes on any two of the following :  

5+5 

(a) Biological functions of proteins 

(b) Isoenzymes 

(c) Insulin 

8. (a) Describe in brief the structure and 

functions of haemoglobin. 5 

(b) How does pH affect the enzyme activity in 

the biological systems ? Explain with a 

suitable example. 5 
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      BCHET–149 

foKku esa Lukrd (lkekU;)  

(ch- ,l&lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-lh-,p-bZ-Vh--149 % tSo v.kq 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fuEufyf[kr esa ls fdUgha ik ¡p iz'uksa ds mÙkj 

nhft,A lHkh iz'uksa ds vad leku gSaA 

1- (d)  fjDr LFkkuksa dh iwfrZ dhft, % 5 

 (i)  olk vEy dk tSola'ys"k.k ----------------------------- esa 

gksrk gSA 
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 (ii)  ,atkbe ,slhfVy&CoA dkcksZfDlyst dk 

lgdkjd ---------------------------- gksrk gSA 

 (iii) --------------------------- ,atkbe }kjk vkWDlhdj.kh 

fo,sehuhdj.k dk mRizsj.k gksrk gSA 

 (iv) gkbM ªkstu ijkWDlkbM dk vi?kVu ----------------------- 

,atkbe }kjk gksrk gSA 

 (v)  ukbfVªd vEy dh D&Xywdkst ds lkFk 

vfHkfØ;k ls --------------------------- izkIr gksrk gSA 

([k)  D;ksa lqØkst ,d vuipk;d 'kdZjk gksrh gS 

tcfd ekYVkst ,d vipk;d 'kdZjk gksrh gS \ 

O;k[;k dhft,A 5 

2- (d)  jklk;fud la?kVu ds vk/kj ij ,sehuks vEyksa 

ds oxhZdj.k dk o.kZu dhft,A 5 

A–199/BCHET–149  P. T. O. 



 [ 8 ] BCHET–149 

([k)  lefoHko fcUnq dks ifjHkkf"kr dhft,A Xykbflu 

ds vuqekiu oØ dh O;k[;k dhft,A 5 

3- fuEufyf[kr esa ls fdUgha nks dh O;k[;k dhft, %  

5+5 

(d)  lsyqykst ty esa vfoys; D;ksa gksrk gS vkSj 

euq";ksa }kjk bldk mi;ksx ÅtkZ lzksr ds :i esa 

D;ksa ugha gksrk gS \ 

([k)  isIVkbM vkca/ leryh; D;ksa gksrk gS \ 

(x)  ,atkbe izHkkoh vkS"k/ y{; D;ksa gksrs gSa \ 

4- fuEufyf[kr inksa dks mfpr mnkgj.kksa ds lkFk 

ifjHkkf"kr dhft, % izR;sd 21
2
 

(d)  ,ufU'k;ksej 

([k)  MkbLVhfj;ksej 

(x)  ,suksej 

(?k)  ifjorhZ /zqo.k ?kw.kZu 
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5- (d)  fuEufyf[kr dFkuksa ds fy, lR; vFkok vlR; 

fyf[k, % 5 

 (i)  ,sYC;qfeu ty rFkk yo.k foy;u esa 

foys; gksrk gSA 

 (ii)  dksystu js'ksnkj izksVhu dk ,d mnkgj.k gSA 

 (iii) DNA dk cuuk DNA ikWyhejst ,atkbe 

}kjk mRizsfjr gksrk gSA 

 (iv) vkuqoaf'kd inkFkZ dk izfrd`fr u n'kkZuk 

bldk vfHky{k.k gksrk gSA 

 (v)  #f/j esa lkekU; ek=kk ls vf/d dhVksu 

fi.M dh mifLFkfr dhVksu;wfj;k dgykrh 

gSA 

([k)  vkS"k/ D;k gksrh gSa \ vkS"k/ ds fodkl esa 

SAR vè;;uksa dh D;k Hkwfedk gksrh gS \ 5 
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6- ,d mi;qDr fp=k }kjk fuEufyf[kr esa ls fdUgha nks 

dk o.kZu dhft, % 5$5 

(d)  TCA pØ 

([k)  ;wfj;k pØ 

(x)  isIVkbMksa dk esjhiQhYM Bksl izkoLFkk  

la'ys"k.k 

7- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5$5 

(d)  izksVhuksa ds tSfod izdk;Z 

([k)  le,atkbe 

(x)  bUlqfyu 
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8- (d)  la{ksi esa gheksXyksfcu dh lajpuk rFkk mlds

izdk;ks± dk o.kZu dhft,A 5 

([k)  tSfod fudk;ksa esa ,atkbe lfØ;rk dks pH 

fdl izdkj izHkkfor djrk gS \ mi;qDr 

mnkgj.k }kjk O;k[;k dhft,A 5 

× × × × × × × 
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